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1	Introduction
The WF of the last meeting [1], has the following issue as an open point:
	Issue 2-1-1: REFSENS
Agreement: The new operating band n109 REFSENS requirements are specified as in the table below.
	[bookmark: _Hlk143092295]Operating band / SCS / Channel bandwidth / REFSENS

	                        Operating
 band
	SCS
kHz
	Channel bandwidth (MHz)
	REFSENS (dBm)8
	Duplex Mode

	                          n109
	15
	5,10,15,20,25,30,40,50
	-100 + 10log10(NRB/25) X
	FDD

	
	30
	10,15,20,25,30,40,50
	-97.1 + 10log10(NRB/24) X
	

	NOTE X:	Applies for DL channels for which channels edges are > A MHz away from 2xFUL at 15 kHz SCS and > B MHz away from 2xFUL at 30 kHz SCS. In case of UL second harmonic direct hit, the value is modified to -71.9 dBm for all channel bandwidths.



Way forward:
Further check to be done regarding the values A and B in NOTE X on the above table whether we need more offset than 10 MHz for 15k SCS and 20 MHz for 30k SCS.



In this brief document, the values of A and B will be discussed
2	n109 Rx Safe Region
[bookmark: _GoBack]Based on another agreement on the last WF about REFSENS UL configuration, a CBW of 5MHz is considered for MSD evaluations for 15 KHz SCS. Figure 1 depicts the worst case scenario where a 5MHz signal is placed at the upper limit of the n109 UL. Its 2nd harmonic occupies 10 MHz ([1456, 1466]). On the other hand, the out of band leakage of the 2nd harmonic (in light blue) will be reduced by 30 dB due to ACLR1 requirements in PC3 UEs. Hence if A is larger than BW of the ACLR1 region for the 2nd harmonic, then region beyond A can be considered as a safe region.       
[image: ]
Figure 1 n109 UL 2nd harmonic direct hit region
In a similar analysis, for the case of 30 KHz SCS, the CBW of the UL equals to 10 MHz and its 2nd harmonic would be over 20 MHz, hence B has to be larger than the ACLR region of the 2nd harmonic, which means B=20MHz
Proposal 1: A=10 MHz, B=20MHz to keep the 2nd harmonic adjacent channel leakages out of the safe region of n109 Rx. 
3	Conclusion
Proposal 1: A=10 MHz, B=20MHz to keep the 2nd harmonic adjacent channel leakages out of the safe region of n109 Rx. 
4	Reference
[1]	“R4-2314927, WF on the requirements for n109, Vodafone.” 
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